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T H (55 1) (4 3 £1) (51 fh) (22 ) (4 ft) (145%1) (26 )
M OE kI A 1,644, 764 T 888, 657 T/ 1,338,100 T/l 238,308 1 29, 598 Tl 3,871,521 Tf 267,906
(H [ +3.5 % +4.1 % ALL1 % ALLS % A5.4 % +2.0 % 2.0 %
O L A 35,881 M 37,185 M 40, 620 28,126 21,111 M 37,705 1 27,130 M
(%18 154D) +2.4 % +1.3 % +1.2 % +3.7 % AL.2 % +1.6 % +3.1 %
E 48.9 % 50.0 % 49.1 % 50.4 % 51.1 % 49.2 % 50.5 %
+0.8 #= +0.5 7= +0.0 #= +0.1 #= +0.7 #= +0.4 7= +0.2 7=
ESN 68.0 % 60.9 % 70.5 % 65.2 % 48.6 % 66.9 % 62.2 %
ALL1 7 A2.3 7%= AL 1 7 A3.1 7% AL.6 7= AL.6 7= A2.8 7=
A 1T k m 176.5 *u 184.0 *a 200.7 *a 146.4 *. 108.0 *x 186.0 *u 140.9 *.
(E@1n1EYD) +2.2 %5 +1.3 *a +2.2 %5 +4.6 Fu 2.3 *u +1.8 *a +3.5 *a
¥ #H k m 86.3 *u 92.0 *x 98.6 *u 73.8 *a 55.1 *a 91.6 *a 71.2 *a
(E@1n1EYD) +2.5 *a +1.5 *a +1.0 *a +2.5 *u A0.5 *u +1.7 *a +2.1 *a
1T k mIT A 203.29 202.05 202.37 M 192. 18 [ 195.56 [ 202.69 192.55 [
Gefr k m i ) +2.17 [ +1.02 [ +0.15 [ +0.97 [ +1.94 M +1.20 [ +1.07 M
FZH k m LA 415.79 H 404.19 1M 411.78 H 381.06 Y 382.95 M 411.69 M 381.27 M
(FEknkh) A2.42 [ AL.74 1 +0.34 +0.93 M A1.36 [ AL.29 1 +0. 67 M
o | O 25.2 [A] 26.7 [A] 28.5 [A] 16.5 [A] 11.4 [A] 26.6 [A] 15.8 [A]
(%B18154D) +0.5 [A] +0. 3 [A] A0.1 [A] +0. 6 [A] A0.2 [A] +0. 2 [A] +0.5 [A]
G AN B 33.6 A 35.6 A 37.3 A 22.8 A\ 18.2 A 35.2 A\ 22.2 A\
(%10 1E%D) +0.3 A +0.0 A 0.3 A +0.8 A +0.4 A +0.0 A +0.8 A
3 #H k m 3.4 %, 3.4 Fu 3.5 *u 4.5 *a 4.8 *a 3.4 *u 4.5 *5
(BE1EYY) +0.0 Ta +0.0 *a +0.1 Fa +0.0 *a 0.0 *u +0.0 *a +0.0 ¥
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